REVISIONS
NOTES: A REV. ECN DESCRIPTION BY DATE
1.0 GENERAL A 8000030686 INITIAL RELEASE MRC 07/09/18

1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS
2.0 DESIGN NOTES

8000032435 ADDED VIEWS TO HELP ASSSEMBLY MRC 11/15/18
8000033449 UPDATED HARDWARE AND DRAWING VIEWS MRC 01/15/19

3.0 MANUFACTURING/SPECIAL REQUIRMENTS
4.0 TEST
5.0 PACKAGING
D
HANDRAIL
DETAIL A
SCALE1:6
C
DETAIL B
SCALE 1:6 B
ITEM |PART NO. DESCRIPTION QTY. WEIGHT | NOTE NO.
1 GB-03105 3/8" X 1" GALV BOLT KIT 42 0.05 LBS COMMSCOPE, |NC OF NORTH CAROL'NA
2 GB-03205 3/8" X 2" GALV BOLTKIT 30 0.08 LBS TOLERANCES SAP MATERIAL MASTER
3 GWF-03 3/8" GALV FLAT WASHER 36 0.01 LBS OPLACE X+ .25 2PLACE xx+ 0.06 MTC4038HR
4 MTC3979HR19 ANGLE BRKT, HANDRAIL 8 0.32 LBS 1PLACE X+ 0.12 ANGLES  + 2°
5  |MTC403721 POST, HANDRAIL 14 9.98 LBS FINISH MATERIAL
6 MTC40378816 HANDRAIL, HORIZONTAL, 94" 4 16.79 LBS GALV A123 A1011/A1018, A500
7 MTC4037HR14 HANDRAIL, HORIZONTAL, 46" 10 8.22 LBS
8  |MTC4037HRI15 PLATE, HANDRAIL TOEBOARD 2 | 16.58LBS - NAVE oATE T TILE
9 MTC4037HR16 PLATE, HANDRAIL TOEBOARD 5 8.11 LBS Em% cg [MRC 06/27/18
10 |[MTC4037HR21 FORMED ANGLE, HANDRAIL STIFFENER 4 2.08 m— " 255 Ry [MCTTO7 rrmag—| 8X12 PLATFORM, HANDRAIL W TOE BOARD A
sfin® n=z2
11 MTC9410WFW 5/16 GALV. FLAT WASHER 9 0.01 LBS MASS | 2869 bs %gg RV — S
. 2%  |AD
12 TS1220 12-24 X 2" SELF DRILLING SCREW 12 0.03 LBS VOLUME ins §§§ e THCTTo7 oti2520t9—  SCALE | DOCUMENT NO.
13 |151288 12-24 X 7/8" SELF DRILLING SCREW 32 0.01 SURFACE AREA | 222 | N 008000033449 1:12 MTC4038HR
HEIGHT SIZE  |WORKAREA 24 MODEL DRAWING SHEET
LENGTH VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
@ 2018 CommScope, Inc. WIDTH C 6 02 RE B 02 RE C 10F 6




NOTES:

DETAILE
SCALE1:6

A

W\

\

)

A

CANOPY POST. TWO TS1275

REMOVE POST AND TECH
SCREW HANDRAIL INTO 4"
SCREWS PER POST

WHEN CANOPY IS USED

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

A

8X12 PLATFORM, HANDRAIL W TOE BOARD

DOCUMENT NO.

MTC4038HR

DRAWING

SHEET
20F6

REVISION
C

STATUS
RE

VERSION
02

1:12

SIZE

C

36" FLIP STEP SHOWN
FOR REFERENCE ONLY

X %
\Y
)
X “
v
v

A
(7
v
A ¢/
7
“
A

%

2
A
YA\\Y 4
4 KA

¢

g
v
g
(A

A\

AN

A\

M X

\

A

CANOPY POST. TWO TS1275

REMOVE POST AND TECH
SCREW HANDRAIL INTO 4"
SCREWS PER POST

WHEN CANOPY IS USED

\/ A
X Y
4 / AN

..

), XA
J. v
X v,
A
v,
\/
A
\A

)
A

%
.
WA X Y
W . 4 v X A
3 X { 7 X % A Y
3 g A i A v, % ),
3 v X v v % % A
% A ; % A )
Y, v ) 7, v X ¥ X )
) %) X v X m.\ A} \ ;
) A 7 ) \ v A \/ Y \..\ V.
) ¢ 7 ) A VA
WA Y A % A
Wy ) %, A 2
\ K A X v
3 % A
W Y ¥ v,
LY v
W
\ X

\

4\
AN

N\ ﬁ@@ﬁ@%_\,

YZ AN

",
e

%
%

v,

¢

\///J@

X

¢
%
A
A
\/

V

y
7 \’
A\ ¥\

v

e

A\

v

"\

AR

N

¥

\

AN
,\\/
A A
X
y,
X

OPTION STAIR

REMOVE FOR
LOCATION

OPTION STAIR

REMOVE FOR
LOCATION

WHEN CANOPY IS USED

REMOVE POST AND TECH

BASE PLATFORM SHOWN
FOR REFERENCE ONLY

CANOPY POST. TWO TS1275

SCREW HANDRAIL INTO 4"
SCREWS PER POST

@ 2018 CommScope, Inc. @ 6



N
OTES:

@

W

DE
. T
CAL/E|L1 (-31
3
P
LACES
G—

\
\
&

\

\\\\\\\‘\

\\\“\\\
| W\
\\\\\\\\ \

\
O\
\

N
\
\\\\\::
N
\

\\\\\\\
W
\
\

\

\
\

\
A\
W

Y.

(\\\\\\ \

A\
A

7

W

W\
\\\\\ W
A

W

\

\
NN
N\
W

\

W\
\\\\\\\

$\
%~
N
W
A\
W\
\\t\:\\
W
\
\
W

W\

XY
\
i\

\
W
\
X
\
A
\‘&

W\

\
A

\
A\\\\\\\\

\

i\

\

\ W

\\ O
.
i
W

\

\\\
W
W

\ \\\\\::\
\
W\
\\\\\\\‘\:\1\\

\&\\.\\
&Q
\
W
\\"\-
\
N\
\
A\\\\ «\\\\\.\}\\\

\

\
W\
\

\
W\

\

o\
\“\
N

\\\\\ W\
\\\\ \
\

\\\\\\\
W

\\\\\
NN
\\\\\\\\

N
A\
\\\\\\\\\

W
N
\\\\\\\\\\\
A\
W

N
\

)

\

A
W\
RN

N

\
N
\\\\\\\\\“
A
W
\\\\
/_(

N
W
V)
5

YA
W
1
w
QA
N
N
\
/<&

¥
W
\ {
&
\

\\\\\ ‘

\V

°
.
°
.
°
e
(=30
o
0
°
°
=
°
°
-]
o
°
e
(30
: 0 e
°
°

8
.0]203.5

TY ~
P
CANOAI;LL o
vposTs
S

CO
MM
SC
OP
E
, INC
. OF NORT
HC
AR
OL
INA

HE
X
BO
LTS
TITLE

Y
Y
L
)
W

SIZ
E
SC
AL
E
DO
CU
ME
NT
NO

[}

(C) 201
8C
om
mS
C
ope, Inc <3$E>
VER
S| -
02ON erWG
gms
. REV
ISI0
N
: jHEET
OF
6




CANOPY SHOWN FOR REFERENCE ONLY

SOLD SEPARATELY

NOTES

4/4//
/,/,,//
,,,//,
@

\
\
4

COMMSCOPE, INC. OF NORTH CAROLINA

8X12 PLATFORM, HANDRAIL W TOE BOARD

f,
%

TITLE

A

SHEET
40F 6

REVISION

MTC4038HR
RE

DRAWING
STATUS

DOCUMENT NO.
VERSION
02

16

SCALE

1

C

SIZE

/
f
1 W
/,/,/,,/

\J

T
Z
,,/

//.
L
0

@
f
é

\

—— |
AR -II

r’/‘hln\%.

@

T
R
4

O 4
O e ZZ
L X I N
T no 2 <Z
) X Z =< w <<
WM i< L= T
= 2= 0 = xzJ
o< QL0 SO N W<
SO NWS B0 H=toL
B0 »508 coi 2225
coi Fo_Io 2150
OO

/e

2

DETAILH
SCALE 1

@ 2018 CommScope, Inc.

2 /o\

J

DETAIL
SCALE 1



NOTES:

(=)
()

=

o & & o o ||E E% o o é & o
] ] ] o o | o o ] ¢} )
T T T T
1 1 1 1 1 1 1 C
o N~ ™ o FRON I © ™ »
(> (®@)) (qp) N~ (> < N~
L N~ <t » © — N~
(> ~ (@») o (Q\] (o) <t
! ~ ~ AN AN (qp)
w | I— | I— I || I
o O () o o o
g S S S od od
-~ Lo (®@)) N (do)
<t Lo (e @) o (qp)
< <

(=)
(=)

2 \ ) s (G
\ - B : G‘T a B

@ HANDRAIL POSTS
DETAIL K

\ SCALE 1:4
; . . e @

N ( 8 . . 8 o o 8 0
° _or _or 1 o o© I o] o I o o _cor °
d | ]
o~ ) o~ ) COMMSCOPE, INC. OF NORTH CAROLINA
(@») D (qp) (@ \] (e @)
E— N~ <t (@)) «©
() Y, \9 l\: % TITLE
w I I |
;’i)_ g Q 5 8X12 PLATFORM, HANDRAIL W TOE BOARD A
~ ([@») (@»)
<t N~ N
SIZE SCALE DOCUMENT NO.
BACK & 52 [ oo
DRAWING SHEET
VERSION STATUS REVISION
@ 2018 CommScope, Inc. @ 6 02 RE C 50F6




4 3 2 ]

NOTES:
1.0 HAND RAIL & STEP /] N o 1 o o I
CAN BE MOUNTED TO |
EITHER SIDE
: D
/|
° ° ] ° ° ]
34.0/863.6| 34.0/863.6|
OPTIONAL OPTIONAL
~——STEP LOCATION — ~——STEP LOCATION —
W/SECTIONAL W/SECTIONAL C
S o HANDRAIL — =) HANDRAIL )
S R = = 2
o ~ () < AN
! ~ ~ N
S ~ =) =)
N~ < ™~ ™~
T 8 2
/IH" o TI,// AN
» B
H ° °
P
COMMSCOPE, INC. OF NORTH CAROLINA
TITLE
8X12 PLATFORM, HANDRAIL W TOE BOARD A
SIZE SCALE DOCUMENT NO.
————34.0[863.6] — —~————34.0[863.6] — C | 112 MTC4038HR
RI G H T S I D E @ 6 VERSION sz\r\i\vlﬁi REVISON | oo
@ 2018 CommScope, Inc. 02 RE C 6 OF 6

4 3 2 ]



	MTC4038HR AD
	Drawing View1
	Detail View A (1 : 6)
	Detail View B (1 : 6)

	Sheet2
	Drawing View4
	Detail View E (1 : 6)

	Sheet3
	Drawing View5
	Drawing View6
	Section View C-C
	Detail View G (1 : 1)

	Sheet4
	Drawing View17
	Detail View H (1 : 2)
	Detail View J (1 : 2)

	Sheet5
	Drawing View12
	Drawing View13
	Detail View K (1 : 4)

	Sheet6
	Drawing View14
	Drawing View15


